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-A rLswcl all Questions Tirrrc: f)rre houl

l. lrr) Dcfiucwhat is nt0urlt"by ijhc ( olLvorB(xri' or divorgont of iln irrjlnitc scries

Show that tLc scrics

1

741 '

is convctgcut ancl

(t>) Let f o,, ana ! l, lc trvo serios ol reui nurnbels.
n=l n=]

i. S rort ll., ,r.. U .: /, r ,r \- ,,'' L1
n--1

ls tlr0 convolsc of 1l)c |),bovc stoluu0lrt

11J-1.,J :r.5

lird its srun

.your aDswcr.

f o,, ancl ! i,,, aLc

1

f,.7'

is cortverrgerrt.

truc? JustilV

. I$ it iruq that, if I(o,, r l^) is corrvcr.genr irnplies
r=l

convergcnt? Justify your an"rvcr.



(u) Lct I rq, aua | 1,,, bc t\vo scrics ol non-rrcgativc rcal nurrtbcrs.

i. lf a,, S AD,, for all n € N und ! 1,,' is colvcrgcrit, slow lhat f a,, is
IJ v:t L=l

convorgent, whcrc ,4; is a positivc rcal nurrl-'cr.

h. ,

ii. If ":*r s "?*', for ull rr € N ald | 1,, is corrvcrgcnt, thcn provc l,lu{
n n 0t

) _ o,, rs cotlvcrAcnt

{b) Let I o" be a series ol leol numbers. Plovc t[at, ifl la" I is convergerrt tlLr:l
tr=1 n=l

\- ,,.. i" rlso corv.rrpL:rl.z-

ls t|e corrvcrse of thc abovc st&terlcnt tiuc? Justify your onswor.
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